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Algebra 2 Trig Name W

Linear Functions Review Assignment 2016-17 ¢

Determine is the relation is a function. Explain why or why not. Then state the domain & range.

1. 3-1),0,1),(10),6,-1) I 2, (2,-5),,(.1,4),@,(3,4)

\{65 NO | not one foone
Domain: { () 3 5 } Donmia § —
" Range: { Vv } R:r:;::m{ { 1| = : 2,3 }
A \ 0 \ ! - Sl o, "'l
. 1T 4, ’
3 ' | j t
} ]
NO
Domain: { 0O \ c? } Domain: { — <<, e }
Range: { _op. O } Range: { _ O X (o) }
Evaluate the function for the given value(s).
5 f(x)=-2(x+3)—-4 6. f(x)=(x+3)(x-1)
D) f(:3)= ~Y (3D -4 = -y a) f(-2) = (-2¥3) (-3\) = =32
1 (=3

b= —x(1¥3) -4 = §-\¥  nio= (OB) (o) = -3

9 = —x(xt3)-4 =~ 0 £3) = K;’r})(;——\) = I~
G )

Determine if the function is a polynomial. Explain why or why not.

7. f(x)=3x*-6x’+4 8. f(x)=—2x2+%x—l
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Determine if the correlation coefficient should be -1, -0.5, 0, 0.5, or 1. Then find the line Ofbu.l ﬁ\

¥y P RN =":.;.;_‘ 2
0. |31 ,U‘, 0.[1%) =
-7 ) o
4l |- (3 1.35) ,-\ ‘
LN B ] l ™ £ Y = —. 15k +3.5
| I ! I ]
05y | &1 3 [ [«
Graph the following functions on a geparate sheet of paper. Make sure to state the domain and range for
#10 - 14, S0 Graphs
| -1 = Lrag-2
10, f(x)=2x+]1 11. y=—-§-(x+2)+l 12. 2x—4y=-38 13.y= glx‘* |~

My A8
>"57‘/\i"’ ’:!L =
V= Lxt -3, if —2<x<0
14. f(x)=-3]x-2|-3 15. f(x)=12 16, f(x)=12, if0<x<2
=2x+1, if x>4 7, if2<x<4

x+2 if x<4

Werite the equations of the following lines.

17. Write the equation of a line in slope — intercept form that passes through the point (8, -1) and is parallel to
y = 3x+ 3.

\f 41 = 3(¢-_)
VYL > 3y~
N 3% =13 . . :
18. Write the equation of a line in standard form that passes through the point (8, -1) and is perpendicular to
~1
= —x+ 3
y > *
= A()(—- 8)
\f Xl = kb
V= 2x -\

-1 ;
19. Write the equation of a line that has.a slope of 3 and passes through the point (1, 3).

N =3 =-5x~) = o RS
N-3 = TX s,
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w following problems ace modeling problemu and should be completed uking your caleulator, (Hint: do

not make your lite more difficult by trying to do thene problemn by hand.)

Y, ' N 7 »‘A vl \ T A i ' ¢ 1 .
20 Uhe tollowing table whows the population ol town (rom 1996 10 2010, Assume that /15 the number of years

winee 1996 and 1 i measare in thousands ol people,

Year V06 190K 2000 2002, 2004 20006 2008 2010

Yeatn ainee 1996, 7 ) o1l Y o © 10 (= 1Y
Population, I! RN 16,1 14,0 213 22.4 258 202 | 283

a)  Usea graphiog caleulator to find the bent - fiting, linear model for the data,

Vcﬁ-QMagxwaOJS

) Using the me ydel, what da the pnpulntinn in 20009

\b. 2T

pmli('l would be the |m|m|nlinn in 2015¢

3%, 3\1s

The table shows data from that last four

¢) What would you

our high rehool wella - ahivty an a (undraiser,

2%, ‘T'he deanm club aty
ahitt, x, nond the total revenue earned from selling them, y.

years for the price charged forut
Price, § b 0 S R R U
| 1050 S0 | 1850

Revenue, ¥ 025

Aitting linear model for the data,

Il when they eharpe $10 (or a t = shirt?

\ %51, 50

_whirts sold when they cost $22¢7

n)  Usen praphing caleulator to find the hest

\\| =

b) Using the maodel, how many ahirt do they te

for the number of (-

10%

¢) Do you think this model will give a good eatimate
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